
1090 Adventure R 2018 <2018><EU><F9903RD>
ABS

52800

Pos Part Number Description Additional Text Quantity

1 60842031044 ABS Module 2016 filled 1.00

2 60642040044 BRACKET ABS MODULE CPL. 1.00

3 60642003000 HOSE HAND BRAKE CYLINDER 1.00

4 60742004000 Front Brake Line 1.00

5 60342001000 BRAKE HOSE REAR BRAKE CONTROL 1.00

6 60342002000 HOSE BRAKE CALIPER REAR 1.00

7 60311051000 BRAKE LIGHT SWITCH REAR 1.00

8 62113020100 banjo bolt M10x1x19.5 6.00

9 0025060166 HH collar screw M6x16 TX30 2.00

10 54813026000 CABLE SUPPORT 10/6MM 06 1.00

11 0603100141 sealing ring DIN 7603 10x14x1 ONLY FOR LC4
ADVENTURE

18.00

12 0014050163 HH COLLAR SCREW M 5X16 WS=6 4.00

13 60113146000 SUPPORT FOR BRAKE HOSE M5 6.00

14 0985050003 Self locking nut DIN 985 M5 6.00

15 0025060126 HH collar screw M6x12 TX30 2.00

16 62513020000 BLEEDER SCREW CPL. 05 2.00

17 0025050206 HH collar screw M5x20 TX30 2.00

19 60342041000 DAMP RUBBER 1.00

20 76042125000 ABS-SENSOR 2.00

21 014580060166 Cap head bold ISO 14580 M6x16 2.00



22 60111094000 CLIP 5/7 MM 06 4.00

23 60342020000 Phonic wheel ABS 1.00

24 60142021100 Phonic wheel ABS, rear 1.00

25 58111076000 CABLE SUPPORT KHS NR.150-47610 2.00


